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This is a 1 order run
khkkkkkkkkkkkkkkkkkkkkk

kkkkkkk

INPUT:
kkkkkkk

: error in error in
year doy time radii radius angle angle datatype
1989 69 18:24:35 1.90 +/- 0.10 75.0 +/- 0.5 SMM
1989 69 19: 8:25 3.50 +/- 0.15 75.0 +/- 1.0 SMM
1989 69 19:33:11 4.30 +/- 0.30 . 75.0 +/- 1.0 SMM

hkkhkdkhkkhkhkhhhkdhhhkhhhkhhhkhkkhbkhkhhhkhkikkkkkk

Structure being measured:

Top of Mound
kkkkkhkhkhkkhkhkhkhkkhkhkkhkkhkkhkhkkkhkhkhkkkhkkkkkxx

kkkkkkkk

OUTPUT:
kkkkkk KK

START TIME:

Event began at t = 0 + -0.633E+00 +/- 0.119E-01 [minutes]
In more convenient units:

Event began at DOY 69 18: 1 +/- 0.119E-01 [minutes]
Origin defined at DOY 69 18: 0

RADIAL INFORMATION:

RADIAL VELOCITY = 416. +/- 7. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l) = 0.102E+01 +/~ 0.308E-01 [solar radii]
c(2) = 0.358E-01 +/- 0.635E-03 [radii/min]
c(2) = 0.416E+03 +/- 0.737E+01 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]
c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:
error in c(l)= 0.94321E-01 [radii] see Bevington pg. 114
error in c(2)= 0.13823E-02 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:
ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 75. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL, RADIAL AND TOTAL SPEEDS AT EACH DATA POINT ARE:
The TANGENTIAL speed at 18:24 = 0.000E+00 km/sec
The RADIAL speed at 18:24 = 416. km/sec

The TOTAL speed at 18:24 = 416. km/sec




The TANGENTIAL speed at 19: 8 = 0.000E+00 km/sec
The RADIAL speed at 19: 8 = 416. km/sec

The TOTAL speed at 19: 8 = 416. km/sec

The TANGENTIAL speed at 19:33 = 0.000E+00 km/sec
The RADIAL speed at 19:33 = 416. km/sec

The TOTAL speed at 19:33 = 416. km/sec

khkhkdkdhhkdhdkdhhkhhkhhkhkkhhhhhkhhkhhkdhhkhkhkhkhkkhkhkkhkhkhkhhkhhhhhhhhhhkdk

The following info is for estimating goodness of the fit
khkdhkdkdhhkdhhkkkhkkhkhkhhdhhhdhhkhkhhkhkhkhhkhkhkhkhkkhkhhhhhdhhhhkhkhkhkdhkdk

Fit is ok [ier=1]

Standard Deviation in the height = 1.22
Standard Deviation in start time measurement = 0.284E+02
Error in time = 0.18944E+01 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.704E-03
Reduced Chi Squared = 0.132E-01

Chi Squared = 0.132E-01

The probability for exceeding chi square = 0.979E+00

The correlation coefficient = 0.100E+01
The probability that no LINEAR correlation exists between the variables = 0.1976]
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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This is a 2 order run
kkkkkkkkkhkkkkkkkkkkkkk

kkkkkkk

INPUT:

kkkkkkk

error in error in

year doy time radii radius angle angle datatype
1989 69 18:24:35 1.90 +/- 0.10 75.0 +/- 0.5 SMM
1989 69 19: 8:25 3.50 +/- 0.15 75.0 +/- 1.0 SMM
1989 69 19:33:11 4.30 +/- 0.30 75.0 +/- 1.0 SMM

hkhkkkkkkhkhkhkkhkkhkdkhkkhkhkhhkkbkkkkkhhkhhkhkkhkkkkkk

Structure being measured:

Top of Mound
kkkkkkkkkhkhkkhkkkkkkkhkkhkkhkhkhkkkkkkkkkkkkhkk®

*kkkkkkk

OUTPUT:
kkkkkkkk

START TIME:

Event began at t = 0 + 0.239E+01 +/- 0.000E+00 [minutes]
In more convenient units:

Event began at DOY 69 18: 2 +/- 0.000E+00 [minutes]
Origin defined at DOY 69 18: 0

RADIAL, INFORMATION:

RADIAL ACCELERATION = -0.237E-01 +/- 0.150E-06 km/sec**2

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l) = 0.900E+00 +/- 0.829E-06 [solar radii]
c(2) = 0.422E-01 +/- 0.407E-07 [radii/min]
c(2) = 0.489E+03 +/- 0.473E-03 [km/sec]

c(3) = =-0.612E-04 +/- 0.389E-09 [radii/min**2]
c(3) = -0.237E-01 +/- 0.150E-06 [km/sec**2]

ANGULAR INFORMATION:
ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 75. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL, RADIAL AND TOTAL SPEEDS AT EACH DATA POINT ARE:
The TANGENTIAL speed at 18:24 = 0.000E+00 km/sec
The RADIAL speed at 18:24 = 455. km/sec

The TOTAL speed at 18:24 = 455. km/sec

The TANGENTIAL speed at 19: 8 = 0.000E+00 km/sec
The RADIAL speed at 19: 8 392. km/sec

The TOTAL speed at 19: 8 = 392, km/sec



The TANGENTIAL speed at 19:33 = 0.000E+00 km/sec
The RADIAL speed at 19:33 = 357. km/sec

The TOTAL speed at 19:33 = 357. km/sec

khkkhhdkdkhkkhkkhhhhhkhkhkkkkhkkhhhkkkhkhkhhkhkhkkkhkkhkhhhkhkkhkkkhkkhkhhkhhkhkhkkkk

The following info is for estimating goodness of the fit
kkkkhhhkhhhhkhkkhhkkhhkhhkhhkhhhkhhhhkhhhkhkhkhkhkkhkhkhkhkhkhkkkkkhkkhkkkkk®

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!
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This is a 1 order run
khkkkkkhkkkkkkhkhkkkkkkkik

kkkkkk*k

INPUT:

khkkkkkk

error in error in

year doy time radii radius angle angle datatype
1989 69 19:57:56 2.06 +/- 0.10 63.0 +/- 0.5 SMM
1989 69 20:41:47 2.14 +/- 0.15 63.0 +/- 0.5 SMM
1989 69 20:58:17 2.34 +/- 0.10 67.0 +/- 0.5 SMM
1989 69 21: 6:32 2.60 +/- 0.10 68.0 +/- 0.5 SMM
1989 69 21:31:17 2.70 +/~ 0.10 65.0 +/- 0.5 SMM
1989 69 22:15: 8 2.91 +/- 0.10 66.0 +/- 0.5 SMM
1989 69 22:39:54 3.09 +/- 0.10 66.0 +/- 1.0 SMM

khkkhkkhkkkkhkkkkhkkhkkhkkkkkkhkkkkkkkkhhrkkkkhkkk

Structure being measured:

Top of Prominence(?) Material
khkkkkkkkkkkkkhhkhkhkhkkhkhkkhkhkkhkhhkhkkkhkkkik

khkkhkkkk

OUTPUT:
kkkkkkkk

START TIME:

Event began at t = 0 + -0.993E+02 +/- 0.146E+01 [minutes]
In more convenient units:
Event began at DOY 69 17:21 +/- 0.146E+01 [minutes]
Origin defined at DOY 69 19: 0

RADIAL INFORMATION:

RADIAL VELOCITY = 76. +/- 7. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l) = 0.165E+01 +/- 0.936E-01 [solar radii]
c(2) = 0.657E-02 +/- 0.619E-03 [radii/min]
c(2) = 0.762E+02 +/- 0.718E+01 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min%*2]
c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

0.11792E+00 [radii] see Bevington pg. 114

error in c(1l)=
)= 0.79750E-03 [radii/min] see Bevington pg. 114

error in c(2
ANGULAR INFORMATION:
ANGULAR VELOCITY = 0.5812E-05 +/-  0.4231E-05[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 63. +/- 2. [degrees]

a(2) = 0.200E-01 +/- 0.145E-01 [degrees/min]
a(2) = 0.581E~05 +/- 0.423E-05 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL, RADIAL AND TOTAL SPEEDS AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 19:57 = 8. km /sec




The RADIAL velocity at 19:57 = 76. km/sec

The TOTAL velocity at 19:57 = 77. km/sec

The TANGENTIAL velocity at 20:41 = 9. km /sec
The RADIAL velocity at 20:41 = 76. km/sec

The TOTAL velocity at 20:41 = 77. km/sec

The TANGENTIAL velocity at 20:58 = 9. km /sec
The RADIAL velocity at 20:58 = 76. km/sec

The TOTAL velocity at 20:58 = 77. km/sec

The TANGENTIAL velocity at 21: 6 = 11. km /sec
The RADIAL velocity at 21: 6 = 76. km/sec

The TOTAL velocity at 21: 6 = 77. km/sec

The TANGENTIAL velocity at 21:31 = 11. km /sec
The RADIAL velocity at 21:31 = 76. km/sec

The TOTAL velocity at 21:31 = 77. km/sec

The TANGENTIAL velocity at 22:15 = 12. km /sec
The RADIAL velocity at 22:15 = 76. km/sec

The TOTAL velocity at 22:15 = 77. km/sec

The TANGENTIAL velocity at 22:39 = 12. km /sec
The RADIAL velocity at 22:39 = 76. km/sec

The TOTAL velocity at 22:39 = 77. km/sec

kkkkkhkkkhkhkkkkhkkkhkhhkkhkhkhhkkhkkkkhkkkhhhhhkkkkkkhhhhkkkkkhhhkhkkkkkk

The following info is for estimating goodness of the fit
khkkkhkhkhhhkhkhkhkhkkhkhkhkkhhhkhkkkhkhkhkkhkkkkkkkkhkkhkkkkkhkkkhkkkkkkk

Fit is ok [ier=1]

Standard Deviation in the height = 0.39

Standard Deviation in start time measurement = 0.513E+02
Error in time = 0.36826E+02 using best fit method
See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.731E-02
Reduced Chi Squared = 0.325E-01

Chi Squared = 0.163E+00

The probability for exceeding chi square = 0.100E+01

The correlation coefficient = 0.968E+00
The probability that no LINEAR correlation exists between the variables = 0.3414)
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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This is a 2 order run
khkkkkkkkhkkhkkhkkkkkkkkkk

*kkkkkk*k

INPUT:

khkkkkkk

error in error in

year doy time radii radius angle angle datatype
1989 69 19:57:56 2.06 +/- 0.10 63.0 +/- 0.5 SMM
1989 69 20:41:47 2.14 +/- 0.15 63.0 +/- 0.5 SMM
1989 69 20:58:17 2.34 +/- 0.10 67.0 +/- 0.5 SMM
1989 69 21: 6:32 2.60 +/- 0.10 68.0 +/- 0.5 SMM
1989 69 21:31:17 2.70 +/- 0.10 65.0 +/- 0.5 SMM
1989 69 22:15: 8 2.91 +/- 0.10 66.0 +/- 0.5 SMM
1989 69 22:39:54 3.09 +/- 0.10 66.0 +/- 1.0 SMM

khkkkkhkkhhkhkhkkhkkhkkkhkhkkhkhkkkhkhkdkkkkkkdhkk

Structure being measured:

Top of Prominence(?) Material
LR EE R LR L E LT AR LRSS S L ELEEEEEEELESEREEERLESEE]

kkkkkkkk

OUTPUT:
* gk k ke ok ok

START TIME:
Event began at t = 0 + -0.902E+02 +/- 0.196E+03 [minutes]
In more convenient units:
Event began at DOY 69 17:30 +/- 0.196E+03 [minutes]
Origin defined at DOY 69 19: 0
RADIAL INFORMATION:
RADIAL ACCELERATION = -~0.456E-03 +/- 0.499E-02 km/sec**2

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l) = 0.163E+01 +/- 0.246E+00 [solar radii]
c(2) = 0.690E-02 +/- 0.372E-02 [radii/min]
c(2) = 0.800E+02 +/- 0.431E+02 [km/sec]

c(3) = ~-0.118E-05 +/- 0.129E-04 [radii/min#%#%2]
c(3) = -0.456E-03 +/- 0.499E-02 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

Approximate error in c(l) = 0.33167E+00 [radii] Bevington pg 154 (8-30)
Exact error in c(1) = 0.45835E-01 [radii] Bevington pg 154 (8-28)
Approximate error in c(2) = 0.50006E-02 [radii/min] Bevington pg 154 (8-30
Exact error in c¢(2) = 0.75671E-03 [radii/min] Bevington pg 154 (8-28
Approximate error in c(3) = 0.17297E-04 [radii/min**] Bevington pg 154 (8-
Exact error in c(3) = 0.25649E-05 [radii/min**] Bevington pg 154 (8-
ANGULAR INFORMATION:
ANGULAR ACCELERATION= -0.3221E-08 +/- 0.2577E-08[radians/sec#**2]

The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(l) = 58. +/- 5. [degrees]
a(2) = 0.108E+00 +/- 0.722E-01 [degrees/min]
a(2) = 0.316E-04 +/- 0.210E-04 [rad/sec]

a(3) -0.332E-03 +/- 0.266E-03 [degrees/min**2]



a(3) = -0.322E-08 +/- 0.258E-08 [rad/sec**2]

THE TANGENTIAL, RADIAL AND TOTAL SPEEDS AT EACH DATA POINT ARE:

The TANGENTIAL velocity at 19:57 = 29. km /sec
The RADIAL velocity at 19:57 = 78. km/sec

The TOTAL velocity at 19:57 = 84. km/sec

The TANGENTIAL velocity at 20:41 = 18. km /sec
The RADIAL velocity at 20:41 = 77. km/sec

The TOTAL velocity at 20:41 = 79. km/sec

The TANGENTIAL velocity at 20:58 = 14. km /sec
The RADIAL velocity at 20:58 = 77. km/sec

The TOTAL velocity at 20:58 = 78. km/sec

The TANGENTIAL velocity at 21: 6 = 13. km /sec
The RADIAL velocity at 21: 6 = 77. km/sec

The TOTAL velocity at 21: 6 = 78. km/sec

The TANGENTIAL velocity at 21:31 = 4. km /sec
The RADIAL velocity at 21:31 = 76. km/sec

The TOTAL velocity at 21:31 = 76. km/sec

The TANGENTIAL velocity at 22:15 = -12. km /sec
The RADIAL velocity at 22:15 = 75. km/sec

The TOTAL velocity at 22:15 = 76. km/sec

The TANGENTIAL velocity at 22:39 = -23. km /sec
The RADIAL velocity at 22:39 = 74. km/sec

The TOTAL velocity at 22:39 = 78. km/sec

khkhdhkhkhkkkhkhkhkhhkkhkhkkkkkkhkhhhhhhhhhhhhkhkhhkhkkhkkhkhkkkkhkrkkkkx

The following info is for estimating goodness of the fit
khkkkkhhkhhkhkkkhkhkkhhhkhhhkkkhkkhhhkhkhhkhkhhhhkkkkkhhhhhhkkkkkhkhkkkkkk

Fit is ok [ier=1]

Standard Deviation in the height = 0.39

Standard Deviation in start time measurement = 0.513E+02
Value of reduced Chi Squared returned from nllst2 = 0.875E-02
Reduced Chi Squared = 0.402E-01

Chi Squared = 0.161E+00

The probability for exceeding chi square = 0.100E+01

For a second order fit 3 correlation coefficients are given:
(Using equation of motion: r = a + bt + at*+*2)

The correlation between the data and the term linear in time = 0.9938E+00
The correlation between the data and the time**2 term = 0.9724E+00
The correlation between the data and the complete equation of motion = 0.9459E+0!

SEE BEVINGTON "Data Reduction and Error Analysis" [1969]




